Irxr
s A =
108278 (%) 10A28H(AH)
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9:15 1% 400mH 148 9:30 9:15
1 (% 100mH #H 9:30
2 | B8 400mH 348 HitHHtH
2 | & 100mH #H #unutat | 3 |% 1500m 348 HittHt
3 |HhE 110mH #H HHHHHA HiHHEH
4 |8 1500m 648
4 |5 110mH #H HHHHHA
#i | 5 /b [100m 248 HittHtH
5 |& 300m #H
6 [/NE 100m 2%4H A
it HittHtH
6 B 300m #H 7 |& 100m 1048
7 |& 3000m #A it HitHtHH
8 |k EH 3000m #H HHHHHHH
8 |B 100m 1648
9 | & 4 x100mR #H
10 |58 4 x100mR #H
1 |% 800m #A 9 |Bx& |5000mW 148 HitHtHH
12 | B 800m #A 10 | & 3000mSC 1#8 HitHtHH
13 | B8 5000m #A #iust| | 1|8 3000mSC 148 HitHtHH
14 |2yH R |4 x400mR #A #i | | 12 /& |4 X 100mR 148 HitHtHH
13|/hNE  |4x100mR 148 HitHtHH
14 |%& 4 x400mR #H
15 |8 4 x 400mR #H HitHtHH
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1|58 FENEBE 10:00 X 9:20 1 INBx | EEk 9:30 X 9:00
2 B |ESH 10:30 X 9:50 2 |INBZ& |ZEMEBE 9:30 X 9:00
3 B ES Bk 13:00 X 12:20 3 |5 =Bk 11:00 X 10:20
4 | =EBk 13:30 X 12:50 4 | E= Bk 11:30 X 10:50
5 |& ENE Bk 13:00 X 12:20
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1 |hEx |(fahik 10:00 X 9:20 1|8 Y 10:00 P 9:20
LR VAN S 17 10:00 X 9:20 2 | & ARk 10:00 X 9:20
3 | mBE  |RRA® 13:00 X 12:20 3 |EB- & A& 13:00 P 12:20
4 |& Y 13:00 X 12:20 3 |Hh8B A& 13:00 P 12:20
4 [hB& |CrAyysrrO— 13:00 ¥ 12:20
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